
SAP ABAP table TXI_T090 {Depreciation calculation keys}

TXI_T090

MANDT [CLNT (3)]

UMAFSL [CHAR (4)]

PERBZU [CHAR (2)]

PERBNA [CHAR (2)]

PERBAB [CHAR (2)]

PERBUM [CHAR (2)]

T000

MANDT [CLNT (3)] TXI_T090-MANDT = T000-MANDT 
0..N

1

T090

MANDT [CLNT (3)]

AFARSL [CHAR (4)]
 TXI_T090-UMAFSL = T090-AFARSL 

0..N

{0,1}

T090R

MANDT [CLNT (3)]

PERBSL [CHAR (2)]

 TXI_T090-PERBAB = T090R-PERBSL 

{0,1}1
 TXI_T090-PERBNA = T090R-PERBSL 

{0,1}
1

 TXI_T090-PERBUM = T090R-PERBSL 
{0,1}

1

 TXI_T090-PERBZU = T090R-PERBSL {0,1}
1


